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BLM 83 Section 8.2 Extra Practice

1. a) translation horizontally 8 vnits left and
vertically 1 uait down
b) reflection in the y-axis, stretch horizontzally about

1
the y-axis by a factor of 3
c) reflection in the x-axiz, stretch vertically about the
1
x-axis by a factor of 37 translation horizontally 10

units right and vertically 9 units up
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£, a) equation of asymptote: x =0;
domain: {x |x>0,x = R} range: { v |y = R}:

0

1
Vv-intercept: none; x-intercept: =

25°
b) eguation of asymptote: x=4;
domain: {x |x>4.x = R}:range: {v|y = R}:
v-intercept none; x-mtercept: (4.3, ()
¢) equation of asymptote: x = —2;

domain: {x |[x> -2 x = R};range: { v|v e R};

v-intercept: (0, —2.4); x-intercept: (—1.4, 0)

d) equation of asymptote: x = 10

domain: {x |x> 10, x € B}; range:{ v |y € R};
Vv-intercept: none; x-intercept: (12, 0)
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6. a) }'=lng4LIxJ ory=logsx—1 b)y=-"Flogx

ey p=1log: {—2x) d)y=-41logsx
7. a) a vertical stretch about the x-axis by a factor of
2. a horizontal stretch about the v-axis by a factor of

— . areflection in the x-axiz, and a translation 4 units
3

right and 7 units up

b) a vertical stretch about the x-axiz by a factor of
0.2, a reflection in the y-axiz, and a tranzlation 1 unit
left and 3 units down
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